KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION OR IGNA September 1999 Form Must Be Typed

WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 32432	API No. 15 - 185-23393-0000
Name: LaVeta Oil & Gas LLC	County: Stafford
Address: P.O. Box 780	NE-SW/SE Sec. 30 Twp. 22 S. R. 11 East V West
City/State/Zip: Middleburg, VA 20118-0780	feet from (S) / N (circle one) Line of Section
Purchaser: Plains	feet from E/ W (circle one) Line of Section
Operator Contact Person: Bennie C. Griffin	Footages Calculated from Nearest Outside Section Corner:
Phone: (_620) _458-9222	(circle one) NE SE NW SW
Contractor: Name: Petromark Drilling LLC	Lease Name: Komarek Well #: 24
License: 33323	Field Name: Richardson
Wellsite Geologist: Bruce Reed	Producing Formation: Simpson
Designate Type of Completion:	Elevation: Ground: 1817' Kelly Bushing: 1822'
New Well Re-Entry Workover	Total Depth: 3553' Plug Back Total Depth: 3539'
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 348 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	Alt 1- Dlg - 10/17/08
Original Comp. Date: Original Total Depth:	Orilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 4500 ppm Fluid volume 500 bbls
Plug Back Plug Back Total Depth	Dewatering method used_Haul by truck
Commingled , Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: LaVeta Oil & Gas LLC
	Lease Name: Komarek #22 License No.: 32432
10-10-06	Quarter SE1/4 Sec. 30 Twp. 22 S. R. 11 East 🗸 West
Recompletion Date Recompletion Date	County: Stafford Docket No.: E-27034
Kansas 67202, within 120 days of the spud date, recompletion, workove information of side two of this form will be held confidential for a period of 1	n the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-130) and geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulations promulgated to regulations promulgated to regulations promulgated to regulations are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature: Benn C. Angli	KCC Office Use ONLY
itle: CONTACT POISOW Date: Dec 21-20	N Letter of Confidentiality Received
Subscribed and sworn to before me this 21 day of $\log embe$	ff Denied, Yes Date:
20 O6	Wireline Log Received
10 <u>00</u> . H. I. II.	Geologist Report Received
Notary Public: Illuda Ilmandy	UIC Distribution KANSAS CORPORATION COMMI
Date Commission Expires: 6-11-2010	UEC 2 6 2006
GLENDA HERNAN NOTARY PUBLIC STATE OF KANSA	CONSERVATION DA

	eta Oil & Gas I I C				r	, Komarek		24	ę.
Operator Name: LaV				Lease	Name:	Komarek		_ Well #: 24	•
Sec Twp	2S. R11	East	✓ West	County	Staffor	rd		···	
INSTRUCTIONS: Sr tested, time tool oper temperature, fluid red Electric Wireline Logs	n and closed, flowing covery, and flow rate	g and shut s if gas to	-in pressures, surface test, a	whether shalong with fi	ut-in pre	essure reached	l static level, hydro	static pressu	res, bottom hole
Drill Stem Tests Take		⊘ Ye	es 🗌 No		 ✓L	og Forma	tion (Top), Depth a	and Datum	Sample
Samples Sent to Geological Survey			!	Name Douglas Shale			Тор 3099	Datum -1276	
Cores Taken			s 🗌 No		,	n Lime		3206	-1383
Electric Log Run		✓ Ye	s 🗌 No		Lans	ina		3231	-1408
(Submit Copy)					в/кс	_		3478	-1655
List All E. Logs Run:						son Shale		3511	-1688
Dual Compensated I	Porosity Logs				•			3534	-1711
Dual Compensated Porosity Logs Dual Induction Logs Microresistivity Log Sonic Cement Bond Log			,		Simpson Sand Arbuckle			3546	-1723
			CASING	RECORD	Ne	w Used			
		Repor	t all strings set-c	onductor, sur	rface, inte	ermediate, produ	ction, etc.		
Purpose of String	Size Hole Drilled		e Casing (In O.D.)	Weig Lbs./		Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
S.P.	12 1/4"	8 5/8"	·	23#		348'	common	290	3% CC
Production	7 7/8"	5 1/2"		15.5#		3553'	AA2	150	704# Salt Fine
							<u> </u>		
		T	ADDITIONAL	CEMENTIN	G/SQL	JEEZE RECOR	D		
Purpose: Depth Top Bottom		Туре	#Sacks I	#Sacks Used T		Type and P	Type and Percent Additives		
Protect Casing Plug Back TD Plug Off Zone									
		<u> </u>							
Shots Per Foot	PERFORATI Specify I	ON RECOR	D - Bridge Plug ach Interval Perl	s Set/Type orated			cture, Shot, Cement mount and Kind of Ma		rd Depth
4	3534-3537 Simp	son Sand							
	-								
TUBING RECORD	Size 2 7/8"	Set At 3536'		Packer At N/A		Liner Run	Yes 🗸 No		
Date of First, Resumerd 11/10/06	Production, SWD or E	nhr.	Producing Meth		Flowing	√ Pumpi	ng 🔲 Gas Lift	Othe	er (Explain)
Estimated Production Per 24 Hours	Oil (Bbis.	Gas I	Mcf	Wate 80	r E	lbls. G	as-Oil Ratio	Gravity 39
Disposition of Gas	METHOD OF C	OMPLETIO	V			Production Inter	rval		
Vented Sold	Used on Lease	[Open Hole	Perf.	_ D	ually Comp.	Commingled		

, 4.5.3 f

ALLIEU CEWENTING CO., INC. 26696 O P.O. BOX 31 RUSSELL, KANSAS 67665 SERVICE POINT: St Bon JOB START SILSPM OJO-OIO-OIO ŞTATE LEASE WELL#24 OLD OR NEW (Circle one) CONTRACTOR Fatromal #3 OWNER S TYPE OF JOB SWOOD HOLE SIZE BY T.D. 355 CEMENT CASING SIZE DEPTH 348 AMOUNT ORDERED TONS TUBING SIZE DEPTH Box, 220le DRILL PIPE DEPTH TOOL DEPTH PRES. MAX **MINIMUM** COMMON_ MEAS. LINE SHOE JOINT POZMIX @ CEMENT LEFT IN CSG. 15' GEL @ 1/265 PERFS. CHLORIDE @ 4640 DISPLACEMENT 2 RECEIVED-® EQUIPMENT KANSAS CORPORATION COMPCION OCT 16 2008@ PUMP TRUCK CEMENTER # 181 HELPER BULK TRUCK CONSERVATION DIVISION #344 DRIVER WICHITA, KS BULK TRUCK DRIVER HANDLING__ MILEAGE _ 315 44 REMARKS: TOTAL 4971.75 SERVICE DEPTH OF JOB 3481 PUMP TRUCK CHARGE EXTRA FOOTAGE __ 436' MILEAGE _ @ *boo*__ MANIFOLD __ @ @ CHARGE TO: La Veta O. 2 4 Has TOTAL <u>idd</u> ZD STREET_ STATE ZIP_ PLUG & FLOAT EQUIPMENT & loodon Plung @ 1000 _ @ To Allied Cementing Co., Inc. -@ You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was TOTAL 6000 done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND -CONDITIONS" listed on the reverse side. TOTAL CHARGE _____ DISCOUNT -IF PAID IN 30 DAYS

SIGNATURE B. A. H.

PRINTED NAME



SALES OFFICE: 100 S. Main Suite #607 Wichita, Ks. 67202 316-262-3699 316-262-5799 FAX

SALES & SERVICE OFFICE: 10244 NE. Hwy 61 P.O. Box 8613 Pratt, Ks. 67124-8613 620-672-1201 620-672-5383 FAX

SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. P.O. Box 129 Liberal, Ks. 67905-0129 620-624-2277 620-624-2280 FAX

Invoice

		2111010	•			
'	A VETA OH O COL		ivolca 1	nvoice Dat	u Order	Station
1	LA VETA OIL & GAS L.L.C	. 6	10130	10/18/06	14194	Pratt
	P.O. Box 780			Sorvice	Description	
1	Middleburg, VA 20118-0780				Cement	
- 1			Lea		W	oll Well Type
- 1			Koma		2.	
			AF	<u> </u>	Pe	O Tarms
	CustomerRep					Net 30
-	Bennie				reater	· · · · · · · · · · · · · · · · · · ·
<u>ID.</u>	Description				Gordley	
D205	AA2 (COMMON)			Quantity		Price
D206	A-SERV LITE (COMMOM)		SK	,,,,	+10.00	\$2,385.00 (T)
C221	SALT (Fine)		SK	15	\$11,34	\$170.10 (T)
C243	DEFOAMER	RECEIVED	GAL	704	\$0.25	\$176,00 (T)
C244	CEMENT FRICTION REDUCER	RECEIVEL KANSAS CORPORATION		36	\$3.4 <i>5</i>	\$124.20 (T)
C312	GAS BLOCK	OCT 16 2	nna LB	43	\$6.00	\$258.00 (T)
C321	GILSONITE			106	\$5.15	\$545.90 (T)
C302	MUD FLUSH	CONSERVATION	DIVISION LB	750	\$0.67	\$502.50 (T)
F211	AUTO FILL FLOAT SHOE, 5 1/2"	WICHITA,	W GALL	500	\$0.86	\$430.00 (T)
F171	LATCH DOWN PLUG & BAFFLE, 5 1/2"		EA	1	\$320.00	\$320,00 (T)
F121	BASKET, 5 1/2"		EA	1	\$250,00	\$250.00 (T)
F101	TURBOLIZER, 5 1/2"		EA]	\$237.50	\$237.50 (T)
F291	CEMENT SCRATCHERS CABLE TYPE,	# 3.60H	EA	6	\$74.20	\$445.20 (T)
E100	HEAVY VEHICLE MILEAGE - 1 WAY	5 1/2"	EA	10	\$60,00	\$600.00 (T)
E101	CAR, PICKUP OR VAN MILEAGE - I WA	. V	MI	90	\$5.00	\$450.00
E104	PROPPANT / BULK DELIV SERVICES/TO	\} ^\}}		45	\$3.00	\$135.00
E107	CEMENT SERVICE CHARGE	ON MILLE, \$200 MIN		347	\$1.60	\$555.20
R208	CASING CEMENT PUMPER, 3501-4000' I	OT A TING AND A	SK	165	\$1.50	\$247.50
R701	CEMENT HEAD RENTAL	21 4 HK2 ON LOC	EA	1	\$1,680.00	\$1,680.00
R404	DERRICK CHARGE, ABOVE 10'		EA	1	\$250.00	\$250.00
100	FUEL SURCHARGE		EA	1	\$250,00	\$250,00
				1	\$105.30	\$105.30

Sub Total: \$10,117.40

Discount: \$1,566.81

Discount Sub Total: \$8,550,59

Stafford County & State Tax Rate: 6,30%

\$343.12

(T) Taxable Item

Total;

\$8,893,71

Paid in Full on 10/11/06 By Check #4086

PLEASE REMIT TO Acid Services, LLC, Dept No. 1131, Tulsa, OK. 74182

IDSON BUTY-13/4E-NINTO

FREY SERVIC	Subject to Correction	FIELD OF	RDER 1	4194
	- BOMHRECK	Wall # Zel	Legal 3	7 1 2 7
10-18-06 Customer (D	County STACSION	Sinte	Station 00	<u>-22-/</u>
AVETA OIL & G	AS Depth Formation	13.		ATT 1/5
·	Coul		ihoe Joint	, , , , ,
	Customer Representative	10 3554 V	on Type CST	Davic
	BANNI			CONTRACT
mber PO Number			60B	0107
on Product	Materials Received by X	D- 14	<i>[</i>]	
Code QUANTITY	MATERIALS, EQUIPMENT, and SERVICES L			
D205 150 SK		SED	UNIT PRICE	AMOUNT
D206 15 SK	A. E. COMBINI			
1	HOW LITE COME	The same		
C221 704/h	The state of the s			
	PAZI			
- C243 36/b.	SEFORMER			
C244 4316	PED	****		
C312/06/B	0.10			
	atto Blok			
C32/ 750/b.	SILSONITE			
C302 500 gg/	MUDFILISH			
F211 1 EA	II FRIDA			
F/7/ 100	LIZ FUNT SHOE			
E12/ 184. 3	12 CATCH DOWN PILL	· (-		
FIE! 154. 5	12 BIASKET			
F101 65A. 3	12-7110801===0			
FZ91 10 EA. 5	12 TURBOUTTER		-PECHANI	
	COCKATCHER_	KANSAS	S CORPORATION	DIM HSSIC
5100 90 mile 7	20			
5101 45mile 1	RUCK MILEAGE		OCT 1 6 20	98
7	KUP MELENCE	C	ONSERVATION	1511
E104 3477M B	UK-DETTUERI		ONSERVATION DIV WICH TA. KS	ISIUN
5107 165 SK. CE	MENT SERVITE ALLA			
RZ08 1EA. A	MENT SERVICE CHAR	GB		
R701 (EA. C)	SWO STRICE			
RYCH I BA. DET	SIEW HEAT			-
DEL	RICK CONNECTION		D/17-	
			B4-	
		(told)		
		- VA	11	
		1/2		
		4		
				
	S 67124-8613 • (620) 672-1201 • Fax (620) 67		1	